{(1/Nevent's) d |\Ich’/dn , Ao}

1960 GeV ppbar Underlying Event
L L B B I I I B B BN B B

<N_> Vs p'Tead (b, >0.5GeV, | <0.8)

m CDF
—f+— Pythia 6.428 350
---&-- Pythia 6.428 351
--¥-- Pythia 6.428 352
----- A~ Pythia 6.428 353
0-- Pythia 6.428 354
--%-- Pythia 6.428 355
----- 1 Pythia 6.428 356
Pythia 6.428 357
Pythia 6.428 358
--=-- Pythia 6.428 359

Rivet 3.1.10, = 3.1M events

Ratio to CDF

0.6
0.4

0.2

0.5

&5 .._.__...._-_-..-:L"—‘-——é ------ R
| =T e = - --Z-=""
= - ~o - - =
- s i 2 = .=
LT PR . =~ - =
_ AT e e -Z-"
- LA 7 - - HEMT © - - - - b
W7ol B e
g ! I

...............................

— I —]
4

2IO
(P [GeV]}

mcplots.cern.ch [arXiv:1306.3436]

| | | N | | | | | | | o | | Lo T
: T T T | T T T T | T T T T T | T T T T T T |:
— 2
C A -
| /@\ ...................... i N

0.5



	Contents
	Page 1


